™~ Question
ID: 1109594870

In the given figure, L, // Ly // L3 and KM =
MN.

(1) If PQ = 1.8 cm, find QR.

(2) If PN = 5.8 cm, find GN.

(3) If PR = 4.6 cm, find PQ.

(4) If PG = 2.4 cm, find PN.
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ABCD is a quadrilateral in which ABIIDC and AD I BC. A line MN, parallel to CD, is drawn

through the midpoint M of the side BC which meets AD at N. Prove that N is the midpoint of AD.
Also, prove that MN bisects the diagonal AC.
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ABCD is a quadrilateral in which ABI| CD. P is the midpoint of BC, PQ is drawn parallel to CD
which meets AD at Q. Prove that PQ bisects AD. Also, prove that P() bisects both the diagonals,
AC and BD.
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In the given triangle ABC, MN |l PQ |l BC
and AM = MP = PB. Prove that MN and
PQ trisect AC.
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